(Ex3]

=

%/
1

A
[

TEBEZRSICRIT DRV ()

Bl =

=
onp

1 REVAR

2 RFEIAB
(2F=] 5TBE () OFBHE
« BERSTBOEARNISEZTS
«FH V& LTERERGER &

(B0 =] ST —TRICEID BT BESEZ
cATWN=T DT TR @il - T2 T4E - RE]

7 [STEIOHE |

84 TEEEE|

86 3t - D <0 |

*BION=T B3I MEXE- K-
cCON=T RBS THE - A\HE]-

53\
53
ﬁj\
ﬁj\

3 EDHS (RTIYa-)L)

e 3 25 1] “ I 128
h =] 48 18 258 po
(09 (o) o0 ) Y (@)
f‘i; E ghr ET ﬁ% ,5- %
s ] BS ) 45
(= 89 £ = 5 3 %
snn |BT ] i T B
' = A =t = S 1
ya = >
Y
-
— \:/ £ -\" — — /\-\__,-" L
A= 1 2 W /
RE EEFERI— ) w DD A R
7 S = %1798
Jlb -~ ! |
BSIL—2 i 1 2 e e
2 ~ ARSI D EREE
= | ETBED. 8
= 1 2 )L—TTla@RIBakE

#OHERC LRI EL AT EVET,



